BRABSHREAMRES 2 Bl FTIERRT
p. 1, ©25 1447H: [V(0) = Spec Al = [V((0)) = Spec R

p. 5, 417H: To:Z X xgY] = [¢p:Z X xgY]
p. 6, F25 1097H: Tiopl = Ipiodl
p. 7,547H: TOx(U)l = TOm(U)]
p. 7,847 H: T(M,0)] = [(M,0u)]
p. 8 L5 1017H: TERMO M EM ] = [HERMED 22 )
po 11, A5 947H: [(M,o/) MLTI = (M) 4L T
p. 12, 95 1147H: Tpy=idl = [p = idw]
p. 14, fnd 2.1.3 ORI OEX 1 7HORBZIERZ I INZ 5. Hy(w(a, Hy)
= Hy(w(a, Hy))
15, TR0 217H: [ayg,.oprn)] = (x40, 20)]
.16, line 13: [{ps,y:}) = {p1,ui})

T T

p. 16, line -6: quiza%lj = qulza%J

p. 27, 256 547H:
L OEY &L = LY &b

p. 27, Fr6 317H:
[0; = gij0u;) = T0; = gi;0;)

p. 28, 317H:
Q3 '@ Lem))
DEBED ) IFAE:

p. 29, 25 1f7H: p"L = O(p-1y» = p*L = O(1-1)x
p. 30, 1447H: p*L 2 O( -1y« = p*L = O(-1)x

p. 30, 14 f5H: p? = p*0

p. 36, 1347H: [M/INJ = [M/IM]

p. 43, KX (3.6) : MEGH o & g2 T ANFERS.

p. 45, 5 17H:
[0(d{x,y} Ndz}) +0(d{y, 2} Adx}) +0(d{z, 2} Ady})] = TO(d{x,y} A
dz) 4+ 0(d{y, z} ANdx) + 0(d{z, 2} Ndy)]



p. 55 4.1 147H X OBH 4K Sing(X) 1 X OFF A4 /K Sing(X) 1]
= X OKSE ALK Sing(X) 1)

p. 62, EA 5 247H: Tgi~l(y)l = Tg~l(y)!

p. 64, F2:5 547H: T[Poisson integal closed subscheme| = [Poisson

integral closed subscheme
p. 68, 2o 747H, 617H, 517H: X = Z

p.70, 11 17H: T#HEV - G BV -8 = [HERV-B T DY —
B

p. 71, 25 547H: [dimO" = dimg — rankg — 2] = [dimO*" =
dim g — rankg — 21

p. 78, TS5 917 H: |_t(ll11 T t;ale = |'t1—a11 .. .t;adlj

p. 83, 1317H: [ =1,...d)] = [(j=1i1,...,iq)]

N

p. 83, —FZ)“B 8’?‘?@ I—dim<{ai}i€]u!]> 2 d—lJ = rdim({ai}iGIUJ>
d—1]

b
m

p. 83, FH5 247H: T201202 . phmapt o wlim | = T2h1202.

C
o Zprwlt - wim |

p. 85, F25 1347H: St NdimTep=2(0)) = [SLNTep1(0)]
p. 85, F25 1047H: St NdimTap 1(0)) = 1SN Tep=1(0))

p. 85, FH 5 847H (2 T): [StNdim Tep (0)] = [SENTep1(0))
p. 85, F5 647H: [SENdimTepu 1(0)] = 1SN Tu1(0)]

p. 86, 447H: TV ik dux I2&->Tl = 1S 1% duy, i2&>T]
p. 87, 217H: Tziwsa; +---1 = Tzjwia; +-- -]

p. 93, T1TH:
+(83 — 84)(383 + 3s4)

+(s3 — 84)(383 + 354) + - - -

p- 93, s 1017H: |—V1, le_l, Vd1J = I—Fl, Fdl—la Fd1J
p. 93, T2 5 917H: line -10 L[AFR Vi, V;_1 EHoTWE LI A%
FiaFi—l LZfI%E



p. 105, "5 447H: Tbou=u'b] = Tbu' = ubl
p. 106, 17H: [B=UTJ = [B=UH]

p. 119, 25 217H: HEE y: H - CIZHLT) = MfBE y: H —» C*
IR LT

p. 120, 25 147H: Trp, 1 = [(r )"
p. 125, 1017H: TR7 VY 2. BRIF) = K7V 2_Z7 ML)

p. 128, M= (7.3) kv 247 F: @4 L) = Toy S L)

p. 131, 6 /7 H: w]d(00)]p(-) = w]doy|r(-)

p134, F» 56 947H: [pt € T(Y — 77 10),7*M) &ART. | =
Mm*t € DY — 7= 1(0), 7" M) &AET. |

p. 144, 16 77H: Tgxl = [g*]

p. 144, 25 117H: Tgt ~DOH1 = [P(g*) ~D4f]

p. 147, F25 947H: [P(¢*)(0)=0'1 = [¢*(0)=0']



